Assignment — 5

Program—1

sample dict =

new dict = sorted(sample dict.items (), key=

print (new dict[0] [0])

Output



Program — 2

searchNum (d, num) :
for x in d.values{() :
if x == n:

w

print (x, present in a dict")

break

sample dict = {'a': 100, 'b': 200, 'c': 300}
= 200
searchNum (sample dict, n)

Output

200 present in a dict



Program — 3

dictl = {'Ten': wenty': 20, 'Thirty': 30}

dict2 = {'Thirty': '"Fourty': 40, 'Fifty': 50}
dictl.update (dict?2)

dictl = dict(sorted(dictl.items (), key = x:x[1]))
print (dictl)

Output

{'Ten': 10, 'Twenty': 20, 'Thirty': 30, 'Fourty': 40, 'Fifty':



